Intro to Triangles August 24, 2018
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Classification of Triangles
By Sides:

Scalene - No sides congruent

Isosceles - At least two sides are congruent

Equilateral - All 3 sides are congruent

By Angles:

Acute - All three angles are acute

Right - One of the angles is a right angle
Obtuse - One of the angles is an obtuse angle

Equiangular - All 3 angles are congruent
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Given: AD/ /BC 42\ - 2
Prove: mZ1+m/2+m/3=180°
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Triangle Sum Theorem

In any triangle, the sum of the measures of the
interior angles will always equal 180°
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Parts of an Isosceles Triangle

Vertex Angle

Leg Leg

Base Angle Base Angle

Base

The lengths of the base and a leg of an isosceles
triangle are in the ratio of 2:5. If the perimeter of the
triangle is 132 cm, find the length of the base of the

triangle.
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Base Angles Theorem
In any isosceles triangle, the base angles are
congruent
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Exterior Angle of a Triangle

An angle formed outside of a triangle, adjacent to
one of the sides, when one of the sides of the
triangle is extended
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Given: Z4 is an exterior angle of the triangle

Prove: mZ4=m/2+m/3 2
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Exterior Angle Equality Theorem
The measure of an exterior angle of a triangle is
equal to the sum of the measures of the two
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Find the restrictions on m_Z2A
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Find the restrictions on m./1

A 8S<mLI <I80"

85° 1

Find the restrictions on m /A
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105°
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Find the restrictions on x

20° X 30°
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